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26, [2] (1) Ba?+HCQ +OH'=BaCO l+H O; (2%)) (2) Fe*', Ba¥'; (2%)

(3) FEQ £); 0.1mol/L(2 53); (4) '« HCO:. 502 (3 53); @BaCOs,
@DCO;2

BaSO; (243) (F 13 %)

27, (169, B=2%)

-3 CN +H,0==HCN+OH  CN +CO;, + H,0===HCOs + HCN

Cl +20H" - 2¢ =CIO +H.O 2CN+5CIO+H:0 = N271+2C0O21+5CI+20H" NaCN + H.0O:2 +

H:0===NaHCO; + NH;1 C 25.50%

28, [B2]  COx(g) + 3H(0)==CH:OH(g) + FO(g) AH= -49 Ki/mol AB D 0.198
(L/mol) 2 C 0.2 ¢(Na")+c(H") - c(OH) (B=Fn, H1449)
35, [&F=]

C0,03+S0,+H,S04=2C0S0O4+H,0 5.0~5.4 2AB +3C052
+3H,0=2AI(OH);1 +3CO, T

oikimst, B AETNETIIANEENRREERS IR, #8, oBHKE
NaCOs iFimIMI R, SSEBHMREIT R ~E

Co(OH),  Co*+2HCO3 =CoCOs+CO+H0  CosOs (BETZE 149y, 8% 24, #1549
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v=1wvg— a:(0.6 —t) = 2.6m/s — 2x0.1m/s = 2.3m/s

25. (1) BAVERIIEE, RAETETERS:

mgsinfl — pmg cosf = ma 18 a=4m/s

v —0 = 200124150 A IB EACHR B BYAGIEREE: v = V2w = VX AXE = 8m/s
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(3) Xj- A: Ta= vt — Eaﬂtz = 12m Xj- B: T = Eﬂ-ﬂtz = 4m
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